GCSE (9-1)
Mathematics




New specifications

>

» A greater focus on problem-solving
» Additional requirements to provide clear mathematical

Coverage of broader and deeper mathematical conten
delivered through a single extended GCSE

Higher tier will include questions that will stretch the m

Foundation tier will focus on core mathematical underst
and skills for all students to master

arguments



Changes to teaching and learning

» GCSE assessment objectives are based on the aims of
and KS4 Programme of Study: fluency, reasoning and
solving.

» A shift in content from Higher to Foundation tier.

Learning and memorising formulae, e.g. area of a trapez
and volume of a prism (no longer provided on formulae
sheets).

» More assessments — there will now be three examinations
over the summer session.




Content

> Entire body of content outlined by the Department fo
Education’ s Mathematics GCSE subject content and ass
objectives document, published in November 2013

> There is more content at both Foundation and

Higher Tiers
> Content domains: F
Number 25%
Algebra 20%

Ratio, proportion, rates of change 25%
Geometry 15%
Probability and statistics 15%



New specifications

>
>
>
>
>

Greater assessment time (4%2 hours)
Three papers, 80 marks each

33.3% non-calculator

240 marks in all

Fewer formulae available in examinations




Structure and features

Three equally-weighted written examination papers at either Foundation ti
Paper 1 is the only non-calculator paper. Calculator assisted assessment ha
from 50% to 66.6%.

Paper 2 Paper 3
Caleulator

Foundation | 333%oweighting | 333% weighting |
(grades 1-5) '

(grades 4-9)




9-1 New Grading

NEW GCSE GRADING STRUCTURE

o 8 7 6 5 a4 3 2 1 U

= Broadly the same proportion of students
will achieve a grade 4 and above as
currently achieve a grade C and above,

= Broadly the same proportion of
students will achieve a grade 7 and
abowve as achicve an Aand above,

m The bottom of grade 1 will be atigned
with the bottom of grade G.

A* A B C - D E F G U
CURRENT GCSE GRADING STRUCTURE

« Broadly the same proportion of students will achieve a
4 and above as currently achieve a grade C and above.
Broadly the same proportion of students will achieve a g
7 and above as currently achieve an A and above.

The bottom of grade 1 will be aligned with the botto
grade G.




Changes to assessment: gradind

Foundation papers now start at, and reach, a higher level.

The marks on legacy Foundation papers are allocated like this:

Targeted at F/G Targeted at E Targeted at D/C

In the new Foundation papers marks will be allocated like this:

50% 50%
2 lower 3 | Upper 3 4

Approximately equivalent to: Approximately equivalent to:

G/F E D D+ C C/B



Changes to assessment: gradind

Higher papers now start at a higher level than the legacy GCSE,
at a grade D. The new higher tier will cover 6 grades instead of 5
more differentiation at the top end of the grades. Previously 25% ¢
were targeted at A/A*, but now 50% of questions in each paper are t
the equivalent grades 7-9.

In the new Higher papers marks will be allocated like this:

50% 50%
4 5 6 7 8 9

Approximately \equivalentto: Approximately equivalent to:

C C/B B A A/A* AlIA*




Progression of demand

All papers begin with questions that target lower grades (to prt
gentle start to assessment).

The level of demand gradually increases throughout the paper.
Questions that target upper grades are towards the end of the pc

Level of demand also increases within some questions (to increase
accessibility throughout the paper).



Assessment - Foundation p

Foundation papers are designed to be accessible to all learners working towar
through gradual ramping of demand.

Journey through Number

1. Write 2148 correct to the nearest 100

(Total for Question 1 is 1 mark)

16 Find the Highest Common Factor (HCF) of 24 and 60

(Total for Question 16 is 2 marks)

High dernand

21. Work out 634 = 52 guestion

Q-m ()
|

(Total for Question 21 is 3 marks)

Work out b = 2a as a column vector.

(Total for Question 30 is 2 marks)




Assessment - Higher pa

Journey through Algebra

2.  Expand and simplify (m + THm + 3) -

{Total for Question 2 is 2 muarks)

T s

Give your solutions correct 1o 3 significant figures.

{Total for Question 11 i 3 marks)

2 Solve algebraically the simultaneous equations -

Feyi=2s
y=Iix= 35

19. Solve ¥ >3x+4 -

(Total for CGuestion 20 is 5 marks)

{Total for Question 19 is 3 marks)




Assessment-overlapping questions

» Between 25% and 30% overlapping questions (Grades 4

Q. JustMaths
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Revision
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Saturday schools, holiday revision,
lunch and after school classes.

Revision guides available from
department.




First 3 sittings:

»91%/91%/93% 4+ (NA = 70%)
»76%/72%/75% 5+ (NA = 50%)
»27%/25%/34% 7+ (NA = 16%)
» Progress 8 of 1.08




Exam dates 2020

Paper 1 = Tuesday 19t" May
HALF TERM
Paper 2 = Thursday 4t" June

vV v v Vv

Paper 3 = Monday 8% June




New topics: Frequency trees

17 100 students had some homework.

42 of these students are boys.
8 of the 100 students did not do their homework.
53 of the girls did do their homework.

(a) Use this information to complete the frequency tree.

did do homework

boys

did not do
homework

did do homework

did mot do
homeworlk

One of the girls is chosen at random.

(b) Work out the probability that this girl did not do her homework.




New topics: Trigonometry

24 POR 1s a right-angled triangle.

14 cm

R

Work out the size of the angle marked x.
Give your answer correct to 1 decimal place.




New topics: Venn Diagram

12 Sami asked 50 people which drinks they liked from tea. coffee and milk.

All 50 people like at least one of the drinks

19 people like all three drinks.

16 people like tea and coffee but do not like milk.
21 people like coffee and milk.

24 people like tea and milk.

40 people like coffee.

1 person likes only milk.

Sami selects at random one of the 50 people.

(a) Work out the probability that this person likes tea.




